MIAMI-DADE

‘ MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOQURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 3152599
NOTICE OF ACCEPTANCE (N OA) www.miamidade.gov/economy
DAB Door Company, Inc.
12195 NW 98™ Avenue
Hialeah Gardens, FL 33018

 ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to be
used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHT).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails fo. perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance, if it is determined
by Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This preduct is approved as described herein, and has been designed to comply with the Flerida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Model 924 Steel Sectional Garage Door up to 12’-4” Wide x 18’ High

APPROVAL DOCUMENT: Drawing No. 04-01, titled “Steel Overhead Sectional Garage Door”, dated
01/16/2004, with last revision F dated 03/09/2015, sheets 1 through 5 of 5, prepared by Al-Farooq
Corporation, signed and sealed by Javad Ahmad, P.E., bearing the Miami-Dade County Product Control
revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County
Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Remstant

LABEILING: A permanent label with the manufacturer’s name or logo, manufacturing address, model number, the
positive and negative design pressure rating, indicate impact rated if applicable, installation instruction drawing
reference number, approval number (NOA), the applicable test standards, and the statement reading ‘“Miami-Dade
County Product Control Approved’ is to be located on the door’s side track, bottom angle, or inner surface of a panel.
LIMITATION: This door has not been tested for air infiltration.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date ot if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety,.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 14-1014.13 and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 15-0317.06
MIAMI-DADE COUNTY ‘ Exviration Date: Julv 14. 202
xpiration Date: July 14, 2020

Approval Date; June 11, 20{5

06/03/2015 Page 1



DAB Door Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1.

Drawing No. 04-01, titled “Steel Overhead Sectional Garage Door”, dated 01/16/2004,
with last revision F dated 03/09/2015, sheets 1 through 5 of 5, prepared by Al-Farooq
Corporation, signed and sealed by Javad Ahmad, P.E.

B. TESTS “Submitted under NOA # 05-0217.01”
1. Test Report on Large Missile Impact Test per FBC, TAS 201-94 and Cyclic Wind
Pressure Test per FBC, TAS 203-94, of “Sectional Residential Door” prepared by
Hurricane Engineering & Testing Inc. Report No. HETI 03-1868, dated 11/12/2003,
signed and sealed by R. E. Droz-Seda, P.LE.
2, Test Report on Uniform Static Air Pressure Test per FBC TAS 202-94, “Sectional
Residential Door” prepared by Hurricane Engineering & Testing Inc., Report No.
HETI 03-1865, dated 10/24/2003, signed and sealed by R. E. Droz-Seda, P.E.
3. Test Report on Tensile Test per ASTM E-8 of “Sectional Commercial Overhead Door
(skin)” prepared by Hurricane Engincering & Testing Inc, Report No. HETT 04-T(98,
dated 01/08/2004, signed and sealed by R. E. Droz-Seda PE.
C. CALCULATIONS “Submitted under NOA # 14-1014.13”
1. Anchoring verification calculations prepared by Al-Farooq Corporation, dated
09/11/2014, signed and sealed by Javad Ahmad, P.E.
“Submitted under NOA # 09-0324.05”
2. Anchor verification calculations prepared by Al-Farooq Corporation, complying with
F.B.C 2007, dated 01/21/2009, signed and sealed by Humayoun Farooq, P.E.
D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

Bl e

Carlos M. Utrera, P.E.
Product Control Examiner
NOA No. 15-0317.06
Expiration Date: July 14, 2020
Approval Date: June 11, 2015
E-1 :



DAB Door Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. MATERIAL CERTIFICATIONS

1.

Notice of Acceptance No. 14-0311.08, issued to Insulfoam, LLC, for their

Insulfoam Expanded Polystyrene Insulation, approved on 08/14/2014 and expiring on
11/29/2017.

Notice of Acceptance No. 11-0926.07, issued to Dyplast Products, LLC, for their
Expanded Polystyrene Block Type Insulation, approved on 11/10/2011 and expiting
on 01/11/2017. :

Notice of Acceptance No. 11-0926.06, issued to Dyplast Products, LLC, for their

Dyplast ISO-C1 Polyisocyanurate Tnsulation, approved on 11/10/2011 and expiring on
01/11/2017.

“Submitted under NOA # 05-0217.01”
Tensile Test Report No. HETI 01-T006, prepared by Hurricane Engineering &
Testing, Inc. dated 01/30/2001, signed and sealed by H.M. Medina, P.E.

F. STATEMENTS “Submitted under NOA # 14-1014.13”

1.

Statement letter of code conformance to 5™ edition (2014) FBC and no financial
interest issued by Al-Farooq Corporation, dated 09/23/2014, signed and sealed by
Javad Ahmad, P.E.

“Submitted under NOA #12-0110.09”

Statement letter of code conformance to 2010 FBC and no financial interest issued by
Al-Farooq Corporation, dated 10/26/2011, signed and sealed by Javad Ahmad, P.E.

Carlos M. Utrera, P.E,
Product Control Examiner
NOA No. 15-0317.06
Expiration Date: July 14, 2020
- Approval Date: June 11, 2015




i 2]

A\

\

\ o !
! 7-1/2" X 2-1/4" % 071"

\ GALV. STEEL CENTER HINGE
b W/ (4) #14 X 5/8" SMS

S, WITH DELRON SLEEVE (OPTIONAL)

.y

-

128 DIA. GALV. AIRCRAFT TYPE

5 PIN
CYLINDER LOCK

DIE CAST
TEEHANDLE

CABLE & NICO-PRESS SLEEVE
W/ MIN. 5 TO 1 SAFETY FACTOR

TOTAL # OF

DOOR 'U' BARS AT
HEIGHT CONSISTS OF EACH DOOR

7' 4 SECTIONS 217 |—
7'—6" |2 SECTIONS 247 |2 SECTIONS 217
7'—9” |3 SECTIONS 24" !1 SECTION 217 >

8 |4 SECTIONS 24" |-
8'-9" |5 SECTIONS 21" |-

9 1 SECTION 24" |4 SECTIONS 21"
9'-6" |3 SECTIONS 24" [2 SECTIONS 21° 6
9'-9" |4 SECTIONS 24" (1 SECTION 21"

10" |5 SECTIONS 247 - |
10'=6" |6 SECTIONS 21" |-
10'-9" [+ SECTION 24" |5 SECTIONS 217

11" |2 SECTIONS 24" |4 SECTIONS 2%~ 7
11"~B6" |4 SECTIONS 247 |2 SECTIONS 217
11'—9" |5 SECTIONS 24"|1 SECTION 21°

12" |6 SECFIONS 24" |-
12'-6" [1 SECTION 24" [6 SECTIONS 21"
12'—9" 12 SECTIONS 24" [5 SECTIONS 21°

13 |3 SECTIONS 247 |4 SECTICNS 21”7 a
13'—6" |5 SECTIONS 24" |2 SECTIONS 21"
13'-9" |6 SECTIONS 24”11 SECTION 217

14' |7 SECTIONS 24" |-
14'-6" |2 SECTION 24" |6 SECTIONS 217

'—9" |3 SECTIONS 24" |5 SECTIONS 21°

15" |4 SECTIONS 24" |4 SECTIONS 21°
15'-6" |6 SECTIONS 24" (2 SECTIONS 21" S
15'—9” |7 SECTIONS 24" (1 SECTION 2t~

16" |8 SECTIONS 247 |-
16'—6" |3 SECTION 24° |6 SECTIONS 21"
16°—9" |4 SECTIONS 24" |5 SECTIONS 21"

17" |5 SECTIONS 24" [4 SECTIONS 24°
17'-6" 17 SECTIONS 24”2 SECTIONS 217 10
17'-9" 18 SECTIONS 24”1 SECTION 21°

18’ |9 SECTIONS 24" 1—

7-1/2" % 3" X .0717 GALV. STEEL
END ROLLER HINGE ————

W/ (6) #14 X 5/8" SMS T =y PUSR NUT
WITHOUT DELRON SLEEVE (STD) R
WITH DELRON SLEEVE (OPTIONAL) \
Tl ee \
1
R L oo}
~ /
T [ /
R \\ e /,’
\\\ \ - -
LOCK Sl N
2/ DOOR e N a
- \"\ N
o =1 e el . i
, \ e i B

STANDARD LOCK N
N SPRING LOADED SLIDE BOLT (BGTH SIDES) ~
~_ FASTENED W/ (4) #14 X 1/2" SMS. .

5/8" MIN. LOCK ENGAGEMENT ~

CONFORMS 70 SECTION 1008 REGARDING GARAGE DOORS'

16 GA. GALV. STEEL MCUNTING
PLATE. FASTENED W/ FOUR
# 10-24 X 1/2" CARRIAGE BOLT

el

& LOCK NUT.
= .| INSIDE SPRING LATCH (OPTIONAL)
FASTENED W/ FOUR #10 X 1/2"
S.M.S. i e
T {
o — \
T e — \\
“\-.\
® o
®
Iﬂ EZPW
J
® U
BRACKET BRACKET
STD. UFT DOCR LOW HEADROOM
DOOR OPTION
7" X 3" X 041"
STEEL PLATE

WITH (4) #14 X 3/4"
SELF DRILLING SCREWS

CENTER STILE

OUTSIDE |

HANDLE END STILE

LOCK BAR GUIDES 1.
INSTALLED ON END STILE

WITH (4) #14 X 5/B" SMS

18T X .6W LOCK BAR 2.
ENGAGES IN TRACK
ON EACH SIDE OF DOQOR

QUTSIDE KEYED LOCK (OPTIONAL)

LOCK BAR LOCKING SHOWN
ALTERNATE TO SPRING LOADED SLIDE BOLT 3
LOCKS SHOWN ABOVE

7-7/8" X 3-1/8" X .010"
STEEL PLATE
WITH (4) #14 % 3/4" SDS

TOP FIXTURE 5-1/2" X 2-3/4" X 0.1"
STEEL PLATE WITH ONE 5/16—18 MS W/ NUT
FASTENED YO END STILE WITH

(6) #14 X 3/4" SELF DRILLING SCREWS

OPTIONAL DOCR VIEWER
TO BE INSTALLED AT

ANY CENTER STILE

CENTER STILES

- SEE SCV - A ~
T - ] ¥ I R
| ' -
F / | i
) 2 / i &
e - - moorl.IT === = Lt LT 0:
/ r 1| @
fr et . / . L = — — —lr|" ;ﬁ
T R/ N ) Y AR | 7| |
\if 7 ¥ o /’ ¥ | ¥i RB' - i‘
/ ! ~
L _ I S
_ - R L __ S G| 0o
-~ d ¥ o@® we
R HAE o Tjw Tiy
A e :' Al A A I /:\‘ o S % %
v/ — = | of — . ‘ ik 35 2l5
'Y - _." - Y Y i \ 8 8 alo
e L - . : |
. ! . S ble 22
i 3 el J5 Y
mA] / ! | -k o 00 s
Iy ' L : 3| o
7 7= ‘ . s
) : ) 4 f A
i = : e} — Al
= e — .
: o~
== = = — e ——— — [ — %
IS l 3
3_5?:755 ==
/
-~ OPTIONAL VENTS |
(3} 5" WIDE AT L &
— 77 0.C. MAX.
OPNG. AREA NGT T0
EXCEED 90 SQ. IN.
37" 37" 5 37"
L ) __MAX. DOOR WIDTH

12'-4"

INSIDE ELEVATION

#14 X 3/4" SELF DRILLING SCREWS MAY BE USED
IN LIEU OF #14 X 5/8" SMS

SCHEDULE A’
CENTER STILES CONFIGURATION
DOOR WIDTHS # OF CENTER STILES
8'-0" T0 9'-0" 2
9'—+" 10 11'—107 3
12'-0" 10 12'--4° 3

DAB DOOR MODEL 924
MAX. SIZE 12'—4" WIDE X 18—0" HIGH
24 GA. ROLL FORMED STEEL

DESIGN PRESSURE RATING

+ 60.0 PSF
65.0 PSF

THIS PRODUCT 1S RATED FdR .l-_ARGE MISSILE IMPACT

GENERAL NOTES

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE FLORIDA BUILDING CODE (FEC) FIFTH EDITION (2014)
INCLUDING HIGH VELOCITY HURRICANE ZONE (HVHZ).

ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS.
ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL
DRESSING OR STUCCO.

ALL BOLTS, NUTS AND WASHERS SHALL BE ZINC PLATED CARBON STEEL.

ANCHORING OR LOADING CONDITIONS OTHER THAN THOSE SHOWN IN
THESE DETAILS ARE NOT PART OfF THIS APPROVAL.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.

Engr: JAVAD AHMAD

PRODUCT REVISED

m complying with the Florida

Buikdiog Code .

Acosytance No (50317, 06
;

2/1¢2%20

™

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE

)

a

(STEEL OVERHEAD SECTIONAL GARAGE DOOR

|

f
C

GARAGE\04—01DAB |

FAX. (305) 262-6978

MIAMI, FLORIDA 332174
TEL. (305) 264-81.00

HIALEAH GARDENS, FL. 33018

12185 N.W. 98 TH. AVE.
TEL. (305) 556 — 6524

DAB DOORS INC.

)

4

ENGR. NAME CHANGED
UPDATED TO 2010 FBC
NO CHANGE THIS SHEET

GENERAL REVISION

by [description

10.13.11

(revisions:

(no] date

C [01.06.10

o}
E [09.16.14

F [03.09.15

01=16—-04

dote!

sheet 1 of 5




STEFL TRACK BRACKET FASTENED
TO WOOD JAMB WITH

5/16" X 1—-5/8" LAG SCREW
(FULLY TGREADED)

HEX WASHER HEAD TYPE A

OPTIONAL STOP MOULDING
BY DOOR INSTALLER

#14 X 5/8" sMs

6 PER HINGE
FOR CONNECTION OF WOOD BUCK

TO MASONRY SEE NOTE ON SHEET &

1/2" X 1-3/4"
__GLUED TO PANEL AND SECURED TO
END STILE WITH 3/16™ POP RIVETS @ 12" O.C.
AND PUNCHED FLAPS

X 058" FORMED STEEL

3/4% X 2" X 2-1/2" X .049" STEEL
END STILE, CONNECT TO PANELS WIiTH
/16" ALUM RIVETS

FLAPS AND (4) 3
, SEE DETAIL ABOVE

.024" STL. PANEL

£~====, OUTSIDE OF DOOR

SOLID BRASS DOOR VIEWER
BY 'SCHLAGE SECURITY HARDWARE'

INSTALLED IN 9/16" DIA. HOLES IN CENTER STILE

POSITIONED AT EYE LEVEL

)
| S 1-7/8" X 3-3/4" X 049" STEEL
S W S CENTER STILE, RIETED TO PANEL (@) 3/16" __ EDGE
. YR (2) 3/16" RIVETS poH Rltes " DISTANCE
< VA : FROM EXTERIOR :
i . # 14 X 5/8" SMs. (2) 3/16" I /A Ul
== ' 4/ HINGE POP RIVETS Bk i 15
— | v i I
” N i
L1—3/16" i J |
170715 )
.
1.9" X 2.19" X 3.3" X .090" YN .
STEEL TRACK BRACKETS — 23 - ! & e A
= 2|1 ) £ 9 R ,J 2 B — (1) PER BRACKET
- = ] ! 1 11 7r - ==
NE (2) 3/16" RIVETS (2) 3/16" RIVETS
! TOP & BOTTOM TOP & BOTTOM I
I 1
1/4-20 SS BOLT
& NUT
7-1/2" X 2-1/4° X .071" 7-1/2" X 3" X 071"
7/8" PUSHNUT GALV. STEEL CENTER HINGE END ROLLER HINGE
INSTALLED ON ROLLER SHAFT
1.82" DIA. X .50" STEEL ROLLERS (STD.)
STEEL TRACK INTERIOR SIDE 1.82" DIA. X .50" NYLON ROLLERS (OPTIONAL)
14 GA. X 2-1/8" X 1" (STANDARD) 2.75" DIA. X .50" STEEL ROLLERS (OPTIONAL)
12 GA. X 3-5/16" X 1—1/2" (OPTIONAL) 2.75" DIA. X .50" NYLON ROLLERS (OPTIONAL)
FASTENED TO TRACK PLATES SECTION B-8B WITH 5" STEM
W/ 1/4-20 X 5/8" TRUSS HD.
SLOTTED M.S. & LOCK NUT Engr: JAVAD AHVIAD
CVIL
FLA. PE § 70592
CAN, 3538

3/8" DIA. POWER-BOLT BY 'POWERS'
2" MIN. EMBED INTO 3000 PSi CONCRETE
~1-7/8" MIN. EDGE DISTANCE

SEE SHEET 4 FOR BRACKET SPACING

PRQDUCT REVISED
s commplying with the Florida
Building Code

Avowptzits No {5’03{% 06

f
<

GARAGE\04—01DAB )

a

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL {305) 2648100

|
g

INC.
12195 N.W. 98 TH. AVE.
HIALEAH GARDENS, FL. 33018
TEL. {305) 556 — 6624

DAB DOORS

(STEEL OVERHEAD SECTIONAL GARAGE DOOR |

|
l
L

N

i
'
1
A M

J

NO CHANGE THIS SHEET
NO CHANGE THIS SHEET

ENGR. NAME CHANGED
GENERAL REVISION

by [ description

C |01.06.10

D (101311
E [09.16.14

nof date
1F {03.09.15

(revisions:

|

01-16-04

dr. by HAMID

date:

drawing no.
04-01
sheet 2 of §




BOTTOM PANEL
REINFORCING

16 GA. X 2-1/4" X 3/4" % 2"

GALYV. STEEL U.BAR REINFORCING TRUSS
Il ® TOP OF PANEL TRUSS FASTENED TO
VERTICAL INTERMEDIATE STILES W/ TWO
#14 X 5/8" SM.S. AND TO END STILE

W/ FOUR #14 X 3/4" SELF DRILLING S.

©

055" X 2-1/4" x 3/4" X 2"

GALV. STEEL U.BAR REINFORCING TRUSS
@ BOTTOM OF PANEL TRUSS FASTENED TO
VERTICAL INTERMEDIATE STILES W/ TWO
#14 X 5/8" S.M.S. AND TO END STILE
W/ FOUR #14 X 3/4" SELF DRILLING S.

BOTTOM SEAL OPTIONS
SEE SHEET 5

e

\
16 GA. X 2—1/4" X 3/4" X 2"
GALV. STEEL U.BAR REINFORCING TRUSS
TRUSS FASTENED TO VERTICAL INTERMEDIATE STILES
W/ TWO § 14 X 5/8" SMS. AND TO END STILE
W/ FOUR # 14 X 3/4” SELF DRILLING SCR.

ALL INTERMEDIATE PANELS
REINFORCING

TOP PANEL

REINFORCING

FLAPS BENT OVER PANEL\

oA
)

1/2" PUNCHED HOLES /|
@ 5-1/2" Q.C.

A

AN A A

\

AY

/
3

16 GA. X 2-1/4" X 3/4" x 2"

GALV. STEEL U.BAR REINFORCING TRUSS

TRUSS FASTENED TO VERTICAL INTERMEDIATE STILES
W/ TWO # 14 X 5/8" SM.S. AND TO END STILE
W/ FOUR # 14 X 3/4" SELS DRILLING SCR.

Engr: JAVAD AHMAD

24 GA. STEEL PANEL

A
-]

e

END STILE

PRODUCT REVISED
- u?vpim-iﬁh Flarids

Accspance Ko 152 21746

GARAGE\04—01CAB )

FAX, (305) 262-6978

, FLORIDA 33174

TEL. (305) 264-8100

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

|

1235 S.W. 87 AVE

MIAMI

")

STEEL OVERHEAD SECTIONAL GARAGE DOO

FL. 33018

12195 N.W. 98 TH. AVE.

HIALEAH GARDENS,
TEL. (305) 556 — 6624

DAB DOCRS INC.

[

|

D,
<

SOTTOM SEAL OPTION ADDED

ENGR. NAME CHANGED
NG CHANGE THIS SHEET
NO CHANGE THIS SHEET

by [descripticn

10.13.11
E |09.16.14,

c |01.06,10
F |03.09.15

D

(revisions:
nol date

|

1

~
v

—/

date: 01—16—04j

dr. by: HAMID

| 04-01

————

Sf;; 3 of




" . 2 X 2 X 1/8" HORIZ. ANGLE ()
. POP RIVETS ) o i 5/16" X 1-5/8" LAG SCREWS INTO WOOD OR HORIZ. TRACK SUPPORT, SPOT WELDED/TO HORIZ. TRACK U 5
2 (23;&//4ST3E3—1/2 X 3" X .104 0 5/16" SLEEVE ANCHORS CENTER SUPPORT REQD. ON DOORS WITH TWO WELDS AT 1—1/2" APART mk =
: —1/4" EXGEEDING & FT. IN HEIGHT: -
TOP ROLLER BRACKET ON EAGH SIDE WITH 1-1/4 EMBED_IRITO, MASONRY H Ao ol AT 5" o v L
FASTENED W/ (6) # 14 X 5/8" SMS. _J. H —| CONNECTED TO FLAG BRACKET ANGLE Z 2 %
090 THK. GALV. STEEL ADJUSTABLE - : S N : B e S BOT & O 32
- - - 2-1/2" X 4-1/4" X 13 GA. STEEL PLATES AND TO SPRING SHAFT GUIDE WITH =5 z
SLIDE FASTENED TO BRACKET e WELDED TO 1—1/2”/x 1-1/2" X 14 CA. ANGLE 4-- H A~ (2) 1/4-20 X 5/8" BOLT & NUT ey 8l
/ W7 571618 X 3747 HEX HEAD FASTENED TO TRACK 4 g 8 g
WITH (4) 1/4-20 55. BOLT & NUTS +--/ /HORIZ. TRACK LENGTH = OPENING HEIGHT PLUS 12” o g 8
TOP BRACKET g %
(STANDARD) ; o &
OP BRACKET ¢
(OPTIONAL) Aoy ) ‘/BYEETEA'-XT%*;%K/ 8§ N
LOW HEADROOM DOOR ; 14 GA. GALY. STEEL TRACK - : 2 &
: _ <]
L SECTION A-A |l @Qu® g
o HORIZONTAL REINFORCEMENT Qaxg o
V 1/2" X 1-3/4" X 058" FORMED STEEL ;Lr Qurz 2
VERTICAL STILES WITH CALY, STEFL g3
(2) 3/16" POP RIVETS FASTENED W/ (4) # 14 X 5/8" SMS. Lladsd
TOP 'ROLLER BRACKET FOR PEY =0
HORIZONTAL REINFORCEMENT LOW HEADROOM DOOR OPTION .&l & S S g
1/2" X 1-3/4" X .058" FORMED STEEL DoOR | * SECTION HEIGHTS BRACKET PLACEMENTS W Z -
GLUED TO PANEL AND FASTENED TO ) : — =
-4t- VERTICAL STILES WITH e HEIGHT [ 15T |2ND [3RD|[4TH |5TH|  B1 B2 B3 B4 BS B6 B7 B8 e Tana
" b 3 n " n n x
(2) 3/16" POP RIVETS ’_L 7-0" |21"[21" {247 [21" N/A1" TO 2"|11-3/4"| 23" | 34 45 56 67 - | S
—5/16" MEETING RIB (. 7'—6" |24"[24" [217 21" N/ATT TO 2 11—3/4" 23 34 45 56 67" 78—1/4" o
/ 7'-9" [24"|24" |24 [21"|N/A1" T0 27[11-3/4"] 23" | 34" | 45" | 56" | 67" [78-1/4"| ||
= 1) H n " L] " n n _ " " n [t " T .- ;" -r_;- n < m
1.82" DIA. X .50" ROLLERS sl : B'—0" |24"|24" |24"|24" N/A" TO 2"|11-3/4"] 23 34 45 56 87" |78—1/4 & 2
W/ .44 DA X 5" STEM S *—SECTIONS ARE NUMBERED STARTING AT THE BOTTOM o .2
ol . FOR DOORS MORE THAN 8 FT. HIGH, USE ADDITIONAL TRACK BRACKETS AT 10" O.C. = L
OPTIONAL INSULATIONS: 2o | =z =,
BY 'DYPLAST PRODUCTS LLC' Zl8 1 Q| .
EPS—EXPANDED POLYSTYRENE ila B | 19" X 219" X 33" X 090" | GO T .=
DENSTY = 1.05 PCF T STEEL TRACK BRACKETS 5 el R
i(\)I-F?-A- #11-0926.07 ~ CONNECTED TO TRACK WITH [ ol o oul
3 __1S0-25 POLY-ISOCYANURATE [ (1) 1/4” BOLTS & NUTS. ale . e
DENSITY = 2.0 PCF Lr / 7 Ilozd e
N.O.A. #11-0926.06 © 1 2 é oz
OR Y O T wn
BY ‘CELLOFOAM NORTH AMERICA’ /| 7 © pen )
DENSITY = 1.03 PCF © 7 g o] 2 R
N.O.A. #14-0311.08 o ; f ‘ L f:: Ngow
a 7 2 -
< —
14 GA. GALV. STEEL & 7 = )
. |-~ ROLLER HINGES FASTENED - Z % E o
W/ {6) # 14 X 5/8" SMS P ) g ] ? 8
\ 4 6l |F
al_ i 813 |8
[1a) = Z|e
1 Tlaie|y
" c|ls|T o
MIN. .024" ROLL FORMED STEEL PANEL L S
ORAWING QUALITY G—40 L HHEIGE
MIN. YIELD STRENGTH = 34 KSI § c2|%i=5
- WITH PRIMER AND BAKED—ON ol |ElEi3
g POLYSTER PAINTED TOP COAT TRACK CONFIGURATION 82loalk
m APPLIED TO BOTH SIDES OF STEEL e
g A B
= / © o[~ | % |0
L1 I I
A I I I B (ERa e
- 2|05 .E‘ g3
- 12 GA. GALV. STEEL VERTICAL LIFT HIGH LIFT STANDARD LIFT LOW HEADROOM ||zle
BOTTOM BRACKET FASTENED DOUBLE TRACK ._bJZ bl el il el IO
W/ (4) £ 14 X 3/4" SMS
AVAILABLE TRACK OPTIONS <
o
Engr: JAVAD AHMAD PRUDUCT REVISED & 2
it CML h , T
FLA. PE § 74592 ::"‘" mc’*ilh'hel’lorﬂn : 3
C.AN, 3 I ¥ o =
BOTTOM SEAL OPTIONS Acorpteace No/S°0317.06 |! . P
SEE SHEET 5 Expirstion K o |l E
2013 z et
-« B’ ‘ I
Misnn Cowers} drowmg no.
SECTION A—A 04—-01
SEE SHEET 3 FOR LOCATION S
OF REINFORCING TRUSSES (sheet 4 of 5)




REINFORCEMENT
1/2° % 1-3/4" X .058"
FORMED STEEL

1-1/2" MIN.
EDGE DIST.

-]

EMBEK

wi

SUBSTRATE

WoOoD
1=1/20 MIN.

[

2BY
WOOC BUCK

1/4" DIA. LAG SCREWS
AT 6" FROM ENDS
AND 12" 0.C. MAX.

i

X

1/4" DlA. LAG SCREWS

o ~—AT 6" FROM ENDS

AND 12" Q.C. MAX.

wooD BUCK-T, [T
//C I I\

i

I

1

OPTION ‘A’

OPTION ‘B’

WOOD BUCK CONNECTION TO WQOD SUBSTRATE

THE INSTALLATION METHODS SHOWN ABOVE SHOWS 2X6 SYP WOOD BUCK ATTACHMENT
TO WOOD STRUCTURES. IF THESE METHODS ARE FOLLOWED NO ADDITIONAL CALCULATIONS/DESIGN

WILL BE REQUIRED FOR DESIGN OF GARAGE DOOR ANCHORAGE.

FOR DOOR REPLACEMENT APPLICATIONS WITH MO ENGINEER OF RECORD, INSTALLATION MAY BE
VERIFIED AND APPROVED BY THE BUILDING OFFICIAL UPON INSPECTION.

WOOD BUCK CONNECTION TO MASONRY

PRESSURE TREATED 2X6 SYP WOOD JAMBS WHICH SHALL BE ANCHORED TO
GROUTED REINFORCED MASONRY BLOCK WALL OR CONC. COLUMN WITH

1/4" ULTRACON BY 'ELCO" WITH SPACING OF

8" 0.C. INTO GROUT FILLED BLOCK WALL, WITH 2-1/4" MIN. EMBED
9" 0.C. INTO 3000 PSI CONCRETE, WITH 1-3/4" MIN. EMBED
2-1/2" MIN. EDGE DISTANCE

1/4” TAPPER BY ‘POWERS' WITH SPACING OF

6" 0.C. INTO GROUT FILLED BLOCK WALL, WITH 1-1/2" MIN. EMBED
7" 0.C. INTO 3000 PSI CONCRETE, WITH 1—3/4" MIN. EMBED

3" MIN. EDGE DISTANCE

3/8" CONFLEX BY 'ELCO' OR
3/8" LOT BY 'MW WITH SPACING OF

15" 0.C. INTO 3000 PSI CONCRETE, WITH 2—1/2" MIN. EMBED
3" MIN. EDGE DISTANCE

3/8" HLC SLEEVE BY 'HILTI" WITH SPACING OF

g" 0.C. INTO 3000 PSI CONCRETE, WITH 1-1/4" MIN. EMBED AND
2-1/2" MIN. EDGE DISTANCE

PREPARATION OF JAMBS BY OTHERS

FOR NEW CONSTRUCTION ENGINEER OF RECORD OR ARCHITECT TQO VERIFY
ADEQUACY OF SUPPORTING STRUCTURE TO SUPPORT LGADS IMPOSED

BY DOOR SYSTEM.

FOR DOOR REPLACEMENT IN RETROFIT BUILDINGS WITH NO ENGINEER OF
RECORD, DOOR INSTALLATION MAY BE REVIEWED AND APPROVED BY
BUILDING OFFICIAL UPON INSPECTION.

5/16" X 1-5/8"
LAG SCREWS
AT 12" 0.C.

#a %"
SELF DRILLING SCREWS
OR

3/16" "RIVEX' STEEL RIVETS_\

MULTIGRIP W/ DOME HEAD
AT 48" 0.C.

REINFORCEMENT
1/2" X 1-3/4" X 058"
FORMED SYEEL

W'STRIP ADAPTER
ALUMINUM

RUBBER W'STRIPPING

O

\\\ 15

_ I 1
! OSOW/\z\\ 534

.2

STEEL STRUCTURE BY OTHERS
MUST SUPPORT THE LOADS IMPOSED
BY DCOR SYSTEM

5 )

1/16" X 2-1/2’
FILLET WELDS -
AT 12" 0.C. MAX.

CONTINUOUS ANGLE TRACK

IC WOOD BUCK

MAXIMUM EXTERIOR(+) LOAD PER JAMB = (12.33' X 60 PSF)/2 = 369.9 Lbs per Ft.
MAXIMUM INTERIOR(—) LOAD PER JAMB = (12.33' X 65 PSF)/2 = 400.8 Lbs per Fl.

I—_E__
1-1/2" -

REVERSE TRACK
IO STEEL

e
ﬁ\%1 750 *ol_{

5/16" DIA. BOLTS
— WITH WASHER & NUT
AT 12" 0.C. MAX.

12 GA. GALV. STEEL

24 O

41.7904j

#8 x 1"
SELF DRILLING SCREWS
OR

3/16" 'RIVEX" STEEL RIVETS
MULTIGRIP W/ DOME HEAD
AT 48" O.C.

W'STRIP ADAPTER
STEEL

RUBBER WSTRIPPING

[ 040
ol WY R

o170 PTION
- ANCHOR_SPACING
ANCHORS STRUCTURE | EMBED [SPACING [EDGE DIST.
3/8" HLC SLEEVE BY 'HILTI CONC. 1-1/4"| 8" 2"
| 3/8" CONFLEX BY 'ELCO’ _ |FILLED BLOCK " 8" | 3-3/4"
[ "3/8" DYNABOLT BY 'ITW' CONC. 1-1/2" B" 2-3/4"
3/8" POWER—BOLT BY 'POWERS' CONC. 2" 8" 1-7/8"
| 3/87 SLEEVE-ALL BY 'SIMPSONST  CONC. 1-1/2" 8" 3"
CONCRETE e = 3000 PSI MIN,
C-90 GROUT FILLED BLOCK f'm = 2000 PSI MIN.

EDGE DIST,

SRV

1-1/4" X 2-1/2" X 14 GA
CONT. STEEL ANGLE

.

FLAT BRACKETS +3" LONG

AT 12" 0.C. N DOOR OPNG.

AT 18" 0.C. ABOVE DOOR OPNG.
CONNECTED TO CONT. ANGLE

W/ (3) SPOT WELDS AT EACH SIDE

CONTINUOUS ANGLE TRACK

TO _CONCRETE AND FILLED

ALTERNATE TRACK INSTALLATION

Engr: JAVAD AHWAD
CIvIL

FLA. PE # 70592
C.AN. 35

BLOCK

PRODUCT REVISED

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-81.00

HIALEAH GARDENS, FL. 33013

12195 N.W, 98 TH. AVE.
TEL. (305) 556 — 6624

DAB DOORS INC

(STEEL OVERHEAD SECTIONAL GARAGE DOOR |

a
f
C
GARAGE\04—01DAB

)
1
I
1
|

{

:

Jﬂ

NO CHANGE THIS SHEET
BOTTOM SEAL OPTION ADDED

ENGR. NAME CHANGED
GENERAL REVISIDN

—_—

by [description

10.13.11

C [01.06.10
E |09.16.14
F |03.09.15

D

(revisions:
(no[ daie

\

h}
04
-
)

dr. by: HAMID

(date: a91-16

04-01

4

|

chk. by:

|
Tr—
drawing no.

sheet 5 c_>f 53




